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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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PROFIT AND LOSS - 5 (Discount Concept) l MATHS WITH SACHIN BALIYAN SIR

The marked price of an article is
Rs 4800 . If a shopkeeper sold it
for Rs 3620 with a discount then
Find the discount % given by
him? T&% a&q & REad qoa
4800 wit “¥ . fRe
a4 30 FBrEe & 91y

620 39X H =T § A 3WF

garT Re v BwEe % &
‘R‘-ﬁm

(a) 18% (b) 21%
(c) 28.91% ) 24.{8‘)//’
(e) None of these
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The MRP of the product is given
as Rs. 2000 and the merchant
decides to provide a discounts of
30% on the product. Find the
selling” price. 3c91g #T MRP
2000 39 ¢ 3R AR 3cuE
W 30% HT T YalT FIA HI
frofr dar ¥ R Hed AT
HITAT]

A. Rs. 1100 B. Rs. 1120
C. Rs. 1150 D. Rs. 1200
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The marked price
refrigerator are R
respectively & If a
the discount of 10%

respectively Find the total di
given by him? & ZId

mm f RAEaa aﬁ‘mr-rm~
15000 F9¥ 3T 12000 I9A

IR A F§ qFERER FAT: 10% Y
IR 15% A T @1 ¥ 39S Q

mﬁmmmm%m
Ffora?

(a) 10% | (b) 11%
(c)8.91%F (d)11.22%
(e) None of thejé
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: . - . O '
if cost price of an article is = of its

marked price . if profit is %) then find
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If marked price of an article i

higher than cost price of that

article then he will give

discount to a

(a) 5% L (b)2% P (c)5%FP
(d) 11% L (e) None of these
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A shopkeeper marked up his goods by - % n T

57;% above the cost price fhen he will 5

gives 15% discount to his all customers

then find his profit or Iosin this
transaction? U& glAAGR —d 3HU«l
39T

%

(a) 25% If°
3
(c) 25 = % Pf
(e) None of these
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A shopkeeper marked up his goods by ,.‘70
30% above the cost price then he will A

gives 61% discount to his all customers
then f‘ nd his profit or loss % in this

transaction? U& Wﬂfﬁ 9+

gfd & dNId Hed ¥ 30% I

ma;‘ra;’fs%ahuzmmsv
m#mmmgﬁ%m

FII?
(a) 5% L (b) 21%% p
(c) 5% P (d) 11% L

(e) None of these
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A shopkeeper marked up his goods by ) \ QS'H» T
422% above thelcost pricg then sell it for W $?
Rsafter giving 28— discount to his

. 8 2
all tastomers then fi @ nd profit or ~
loss % in this transaction>7¢ i?v‘l’ﬂ?.ﬂ A "\ / gdo
HIR TEGIH B AR AT ¥ 425% J/ V4

390 Rftaa B R 3§ s @

Mm‘tza-%aﬁuzmkszsooﬁ

wﬂmmwmamm

g1 81t % JYUr cp Y
(a) 2450, 5%L (b) 2450 , 242—9% p

(c)2450, 3—%P  (d) 2450 ,11—%L
(e) None of these
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A dealer fixed the price of the article by
40% above the cost price but when
selling he allowed a discount of 20%. In
this way, he makes a profit of Rs 480 .

Find the cost price of the article? Tsh
Sl & UF a&q # HAT AP
AT ¥ 40% W aF #, Afke A

Y FAT WY 20% A Te e
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FAE § q& A ANd Hed
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A merchant marks his goods by 25% above
the cost price. Due to slump in the market

his cost reduces by 5%. He thus offers a W
discount of 8% due to which the sales go up \»

by 25%.Compute the change in the rjmc- N
merchant profit? T& SAMNRI J9« ATH H V PR
W aNd Aol ¥ 25% I0F Hed 7 e
3 FaT B AGAR F HY F FNOT , X

IFH ARTT 5% FH F A gl 39 _ Q\

YHR d§ 8% # TC Yol HIAT &

s FRoT Y 25% @@ S B

AN & a1 #H gRada i aorEr

HL?

(a) 5% higher (b) 7.5% higher

(c) 8% lower (d) unchanged®






